7-3 Sum and Difference Identities

Advanced Math

Warm-Up: Verify that 1 = tan x cos x csc x is an identity.
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I. Sum and Difference Identities

Sum and Difference Identities for the
Cosine, Sine, and Tangent Functions:

COS()('W = (0

Sin i}ffg) = SinXcosy + Siny s x
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1a. Show by producing a counterexample that
cos(X -y) # COSX —COS Y

(05 (1) # C0ST - COS T
(s (o) # ~1 -"|
| # 0

b. Show that the difference identity for cosine is
true for the values used in part a.

(S(T-T1) = (ST CosTT + Sintr SInT

2. Use the sum or difference identity for cosine to find the exact value of cos 75°
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7-3 Sum and Difference Identities

3. Use the sum or difference identity for cosine to find the exact value of cos 735

ts1B= c0s(45-30)= (0545 W0s 20+ SindBsin30
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5. Use the sum or difference identity for tangent to find the exact value of tan 255°

+an %5 = fan (225+20) = 1N 225+ ﬁmrﬁa)

J-4an 7254w
.5 3
|- & 2
- 33 3+z Qi iz
3-{3 213 Tq-3
6. Verify that sec (7 + A) =- sec A is an identity
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